
8th January                                                     8th January                                                     

Write 0.25 as a fraction Write 50% as a decimal

Round 3178 to the nearest thousand. Round 86 to the nearest ten.

Sinead buys an ice cream for £1.40
She pays with a £2 coin.

How much change should Sinead 
receive?

Sinead receives her change as 
exactly 5 coins.

What coins did Sinead receive?

The cost of a taxi journey is worked 
out by the rule.

    £2 plus 50p per mile

Work out the cost of a 10 mile 
journey.
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